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15. (a) Complete the sentences.

\

out of 10 is the same as 70%

10 out of 20 is the same as %

(b) Complete the sentence.

\

out of is the same as 6%

Now complete the sentence using different numbers.

\

out of is the same as 5%
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24, Here is some information about A levels in 2002.

English Mathematics
Whiitidecls 72000 54000
students
Percentage gaining S i
grade A

How many more students gained grade A in mathematics than
in English?

\
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16. (@ Work out the missing values.

® TMoollMlCDp{lynvllwﬂul17%%(0{.

What is the total cost of the CD player?
You can use part (a) o help you.

\
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16.  Wine gums are sweets that are made in different colours.

Pupils tested whether people can taste the difference between black wine gums
and other wine gums.

‘The percentage bar charts show three pupils' results.

Key:

Cannot taste the difference

[ cantaste the difterence

Ravi's results Sita's results Tina's results
100% 100% 100%
80% 80% 80%
60% 14— 60% 60%
40% 40% 40%
20% 4| 20% 20%
0% —— 0% 0%
Ravi asked Sita asked Tina asked

50 people. 100 people 200 people
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(a)  Complete the table.

(b)  Explain why Tina's results are likely to be more reliable than Ravi's or Sita's.

\
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20.  Three different types of woodpecker live in Britain.
The pictogram shows information about the numbers of each type.

Key: —ﬂ represents 10000 woodpeckers

(a) Complete the table below to show the percentages of each type of woodpecker.

satspapers.org

Changing 120

(b) Theratio of type A:type B woodpeckers is 6: 1

What s the ratio of type B : type C woodpeckers?

\
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10. (a) Work out the missing values.

® mnnsﬁnchﬂyasmlpﬁnVl%%'ax.

What s the total cost of the CD player?
You can use part (@) to help you.

\
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10.  Wine gums are sweets that are made in different colours.

Pupils tested whether people can taste the difference between black wine gums
and other wine gums.

The percentage bar charts show three pupils' results.

Key:
[: Cannot taste the difference

Ecmlmmodmnne-

Ravi's results Sita's results Tina's results
100% 100% 100%
80% 80% 80%
60% 60% 60%
40% 40% 40%
20% 20% 20%
0% 0% 0%
Ravi asked Sita asked Tina asked

50 people 100 people 200 people
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(8 Complete the table.

() Explain why Tina's results are likely to be more reliable than Ravi's or Sita's.

\
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14, Three different types of woodpecker live in Britain.

The pictogram shows information about the numbers of each type.

- | =

HEEE

Type A Type B
great spotted lesser spotted
‘woodpecker woodpecker woodpecker

Key: ‘m represents 10000 woodpeckers

(a) Complete the table below to show the percentages of each type of woodpecker.

Type A Type B Type C

KSY06MaTir 4-672 16

satspapers.org

(b) The ratio of type A : type B woodpeckers is 6 1

What is the ratio of type B : type C woodpeckers?

\
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21, Kate asked people f they read a daily newspaper.
Then she wrote this table to show her results.

126 people = 60%

‘The values in the table cannot all be correct.

The error could be in the number of people.
Complete each table to show what the correct numbers could be.

80 people = 40%
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21. (a) Write the missing numbers.

\

50% of 80 =

5% of 80 =

1% of 80 =

(b) Work out 56% of 80
You can use part (a) to help you.
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16.

(@

)

Carlos and Mary each did a survey.

Carlos asked people: ‘Have you ever been to North America?’

‘The percentage bar chart shows his reslts.

"

0% 20% 40% 60% 80% 100%
40 people said No.
How many people said Yes?

people —

Mary asked 10 people: “Would you like to go to South America?”

Results: 5 of the 10 people said ‘No’.
4.0f the 10 people said ‘Don't know'.
1 of the 10 people said ‘Yes'.

Complete the percentage bar chart to show these resuits.

0% 20% 40% 60% 80% 100% -
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14. (a) Write the missing numbers.

\

50% of 80 =

5% of 80 =

1% of 80 =

(b) Work out 56% of 80
You can use part (@) to help you.
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18. (a) I this design, the ratio of grey to black is 3: 1

What percentage of the design is black?

(b) I this design, 60% is grey and the rest is black.

What is the ratio of grey to black? ' ‘

Write your ratio in its simplest form.

A AY A
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21. (a) Some of the fractions below are smaller than %

Tick (v) them.
\ 1 4 1 1 1
10 9 2 100 8
(b) To the nearest per cent, what is %n a percentage?
Tick (v) the correct percentage.
\ 0.9% 9% 10% 1% 19%

(c) Complete the sentence below by writing a fraction.

AN % is half of
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(@)

()

Carlos and Mary each did a survey.

Carlos asked people: ‘Have you ever been to North America?’
The percentage bar chart shows his results.

CETTE T -

0% 20% 40% 60% 80% 100%
40 people said No.
How many people said Yes?

Mary asked 10 people: ‘Would you like to go to South America?’

Results: 5 of the 10 people said ‘No'.
4 of the 10 people said ‘Don’t know’.
1 of the 10 people said ‘Yes'.

Complete the percentage bar chart to show these results.

0% 20% 40% 60% 80% 100%
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28.

A pupil investigated how the teachers at his school travel to work.
The table shows the results.

Number of teachers Number of teachers
‘who travel by car ‘who do not travel by car

18 7

(@) What percentage of these teachers travel by car?

\_

(b) 18 teachers travel by car. Some of these teachers travel together.

Write the missing frequency in the table below.

Number of teachers
Hm Number of cars
\ |
2 4
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Here is a question from a survey.

In a time machine, would you like to go forwards or backwards in time?

People said ‘Forwards’, ‘Backwards’ or ‘Don’t know’.

Results:
Y —
| E——
?

Don't know

The bar for ‘Don’t know’ has not been drawn.
What percentage of people said ‘Don’t know'?





image27.jpg
24.

The table shows whether pupils in a class walk to school.

(a) What percentage of the boys walk to school?

(b) What percentage of the pupils in this class walk to school?

\
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Here is a question from a survey.

In a time machine, would you lie to go forwards or backwards in time? ]

People said ‘Forwards', ‘Backwards’ or ‘Don’t know’".

Results:

| E—
?

Don't know

The bar for ‘Don't know’ has not been drawn.
What percentage of people said ‘Don’t know'?
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21. (@)

(o)

Work out 5% of 360

Work out 15% of 360
You can use part (a) to help you.
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14. (@ Work out 5% of 360

() Work out 15% of 360

You can use part (@) to help you.
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In one year, 2 million tonnes of glass bottles and jars were
thrown away in the UK.

38% of these bottles and jars were recycled.

How many tonnes of the bottles and jars were recycled?

tonnes.
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26 In 2005, about 60.2 million people lived in the UK.
Look at the information about these people.

= 50.4 million lived in England.
® 5.1 million lived in Scotland.
= 3 million lived in Wales.

= The rest lived in Northern Ireland.

(a) In 2005, about how many people lived in Northern Ireland?

(b) In 2005, about what percentage of people in the UK lived in Wales?
Tick (/) the correct value.

\ r‘ 1% rlsﬁ |—|2096 |_|6396 —
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16. In 2005, about 60.2 million people lived in the UK.
Look at the information about these people.

= 50.4 million lived in England.
= 5.1 million lived in Scotiand.
= 3 million lived in Wales.

® The rest lived in Northern Ireland.

(@) In 2005, about how many people lived in Northern Ireland?

M ]

(b) In 2005, about what percentage of people in the UK lived in Wales?
Tick (v) the correct value.

N O O e [es —
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21 The price of a coat is £65
In a sale the price is reduced by 15%

What is the sale price of the coat?

\





image35.jpg
\

Here are some headiines from newspapers.

50% want new hos,

Recycling up by 50%

Broadband access now 50%

~aa A

Passenger numbers up by 50%

\mnamnyﬁnx

| NSV |

All these headlines use ‘50%"
Explain what 50% means.
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A website gives this chart to show
the chair and table heights for children.

(a) 50% of 6 year-olds need a chair height of 12 inches and
atable height of 20 inches.

What do the other 50% of 6 year-olds need?

Chairheight: —___ inches  Table height: _______ inches

(b) Gill says:

[ More than three-quarters of all 8 year-olds need a chair height of 14 inches.

Is she correct?

\ Yes No

Explain your answer.
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3. Each diagram below was drawn on a square grid.

(a) Write what percentage of each diagram is shaded.

The first one is done for you.

orm

NN

T 1 N

(b) Explain how you know that 122% of the diagram below is shaded.

[ 13 N

(c) Shade 372% of the diagram below.

\

T mak

T mark

2 mark

2 mak
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26.

(C]

()

The diagrams show how the average height of a 7 year-old child in China changed

from 1957 to 2007.

15

Metres.

05

1957

15

Metres

05

The average height of a 7 year-old child in China has increased over these 50 years.

By how many centimetres per year has it increased?

\

cm per year

In 2007, the average height of a woman in China was 30% more than the

average height of a 7 year-old child.

What was the average height of a woman in China in 20077
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Each diagram below was drawn on a squart

e grid.

(a) Write what percentage of each diagram is shaded.

The first one is done for you.

I N

\

(b) Explain how you know that 12 1% of the di

iagram below is shaded.

LTI

\

(c) Shade 373% of the diagram below.

NI

Vi
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16.

Two beaches are very similar.

A survey compared the number of animals found in one square metre on
each beach.

One beach had not been cleaned.
The other beach had been cleaned.

Sandhoppers
13%

‘Sandhoppers
33%

(a) The data for the beach that had not been cleaned represent 1620 animals.
Complete the table to show how many of each animal were found.

Beach: Not cleaned
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(b) The data for the beach that had been cleaned represent 15 animals.

Complete the table to show how many of each animal were found on the
cleaned beach.

Beach: Cleaned

Number found

(c) Cleaning the beach changes the numbers of animals and
the proportions of animals.

Write a sentence to describe both these changes.

\
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In 1976 the average yearly wage was £3275
On average, people spent 17% of £3275 on their family holiday.

How much is 17% of £3275?

Show your working.

2marks
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15. (a) In 1976 the average yearly wage was £3275
On average, people spent 17% of £3275 on their family holiday.

How much is 17% of £32757
Show your working.

\

2

(b) In 2001 the average yearly wage was £21842
On average, people spent £1644 on their family holiday.

What percentage of the average yearly wage is that?

Show your working.

\

2t




